[ Efficiency vs vertpos |

—_
+—
=

$.045
[2]

>
>
8]

®.035
o

£
[}

0.025]

0.015

0.005

Ratio

0.05

0.04

0.03]

0.02

0.01

LN LR
&

iy

*

]

»

%
4
3
-

1.0

iy

UL S LR L

= - = = et =i -

o

0.95

=
2
N

101 1 10 0?
TP vertr (cr%)

DOM
——— . DOM_mKFitREFit-test_1000evt
Efficiend " poMNANTEST 10008vt

--------------------------------------- E
“

F .
--------------------------------------
-------------------------------

el SEEREY PR PP EERETEPTE FEEETET i
Fab ool b ool a8y | hihh
B S48 -1 101, a8 2 4. 4 . 2. A4l &
4
B

%9 20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

> o
f9.018f
H.016
9.014F
>

_@.012

)
=
5]

0.008
0.006
0.004
0.002

Ratio

0.02

0.0%

.............

.............

.............

s

1.9

iy

T
A
il
J

S
I
H

B = e O s R LR

20 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


